Name: Date:

Teacher: Class:

Multiplication 201

What has a head and a tail but no body? A coin!

Multiply these numbers. LOTS OF
Example: 2 LOTSOF2=4 2x2=4

1L 9x7 = 1. 1 x7= 2l. 1 x3=
3. 1)(1: 13. 1)(8: 23. 1)(6:
4. 1x92= 14. 2 x 4 = 4. 2x9=
5. 1 XlO: 15. 2 Xl: 25. 2 Xlo:
8. 1)(7: 18. 1)(2: 28. 1)(4:
99 2x10= 19 1 x6= 29. 2 x4 =
10. 2)(1: 20. 1)(1: 30. 2)(6:
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Answer Key

Date:

Teacher:

Class:

Multiplication 201

What has a head and a tail but no body? A coin!

Multiply these numbers. LOTS OF
Example: 2 LOTSOF2=4 2x2=4

L 2x7=14 1L 1x7=7 2. 1 x3=3
2 1x4=4 12.2x3=6 22. 2x8=16
 1x1=1 13 1x8=8 3. 1x6=6
4 1x2=2 4. 2x4=28 24 2x9=18
> 1x10=10 15 2x1=2 25 2x10= 20
6 2x2=4 6. 2x6=12 6. 1x5=5
T 1x9=9 17 2x8=16 27. 2x5=10
8 1x7=7 18 1x2=2 8. 1x4=4
% 2x10= 20 199 1x6=6 29 2x4=8
0. 2x1=2 0. 1x1=1 3. 2x6=12
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